



greater  
miami  
chamber  
of commerce®



# CERTIFICATE OF ORIGIN

**ORIGINAL**

TO VALIDATE, GO TO  
**VERIFY.FTGS.US**

Certificate Number : **MI-COO-70923-69839b6e3c883**  
Date : **February 04, 2026**

Seller (Exporter) DEVON WINDSOR 4724 Southwest 74th Avenue Miami FL USA	Transport Type Air	Port of Loading Istanbul
	Destination Country Turkey	Destination Port Istanbul
	Export Date *****	Exporting Carrier *****
Consignee Vakko VAKKO HAZ.GIY SAN TIC AS ALTUNIZADE MAH KUSBAKISI CAD NO 35 Uskudar Turkey	Import Permit Number *****	Bill of Lading / AWB *****
	Owner or Agent *****	Forwarding Agent *****
	Remarks	
Buyer (Importer)		

Description (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin
Women's Clothing =====end of products=====	129 lbs =====	China =====



Name of Authorized Trade Association

The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that:

- The above mentioned goods originate in the country(ies) specified above and comply with the rules of origin applicable in the country(ies) to those goods.
- The information in this certificate and in any documents provided to the Greater Miami Chamber of Commerce ("GMCC") is accurate, true and complete.
- The Applicant undertakes to advise GMCC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.
- The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- In consideration for the GMCC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless GMCC from any liability in connection with the issuance of this certificate and to indemnify GMCC in respect of any costs and/or claims made against GMCC in connection herewith.
- The Applicant is authorized to give the undertakings set out herein.



*Liane Ventura*

Authorized Signature **Liane Ventura**

MI-COO-70923-69839b6e3c883 / February 04, 2026

DEVON WINDSOR  
 4724 SW 74th Avenue  
 Miami, FL 33155  
 United States of America  
 Tel: 314.482.2444  
 www.devonwindsor.com

# INVOICE

Invoice: 40034688

Date: 01/15/2026

<b>Bill To:</b> VAKKO HAZ.GIY SAN TIC AS ALTUNIZADE MAH KUSBAKISI CAD NO 35 USKUDAR ISTANBUL 34662 Turkey	<b>Account:</b> VAKK1 <b>Order:</b> 130169 <b>Ship Via:</b> OTHER <b>Terms:</b> WIRE TRANSFER <b>Dept:</b> <b>Lead Tracking No#:</b> <b>Order Source:</b> <b>WareHouseCode \ Name:</b>	<b>PO No.:</b> R2601 <b>Vendor:</b> <b>Division:</b> DW <b>Division Name:</b> DEVON WINDSOR <b>Phone:</b> <b>Sales Rep:</b> ASH <b>Approval:</b> <b>Bill Of Lading:</b> <b>3rd Party Order No#:</b>
---	---	---

**Ship To:**  
VAKKO  
ALTUNIZADE MAH KUSBAKISI CAD  
NO 35  
USKUDAR  
ISTANBUL 34662  
Turkey

**BOX WEIGHT & DIMENSIONS**  
 BOX 1=18/18/8= 23 POUNDS  
 BOX 2= 24/24/12= 51 POUNDS  
 BOX 3= 24/16/16- 43 POUNDS  
 BOX 4- 24/16/12= 32 POUNDS

Style	Style Desc	Color	Color Desc	Price (USD)	Discount	Net Price (USD)	Total Units	Total Amt (USD)
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester		<b>HTS Code:</b> 6112-41-0010				
RE26324B	Whit Bottom	ESPRS	Espresso	43.00	10.00%	38.70	8	309.60
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester		<b>HTS Code:</b> 6112-41-0010				
RE26324B	Whit Bottom	GLACR	Glacier	43.00	10.00%	38.70	8	309.60
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester		<b>HTS Code:</b> 6112-41-0010				
RE26324T	Winona Top	ESPRS	Espresso	43.00	10.00%	38.70	8	309.60
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester		<b>HTS Code:</b> 6112-41-0010				
RE26324T	Winona Top	GLACR	Glacier	43.00	10.00%	38.70	8	309.60
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Fringe: 100% Polyester		<b>HTS Code:</b> 6108-92-0030				
RE26327R	Odessa Robe	ESPRS	Espresso	107.00	10.00%	96.30	8	770.40
<b>Size</b>	XS/S	M/L						
<b>Qty</b>	6	2						



*Signatures*

Customer Copy

MI-C00-70923-69839b6e3c883/February 04, 2026

Style	Style Desc	Color	Color Desc	Price (USD)	Discount	Net Price (USD)	Total Units	Total Amt (USD)
-------	------------	-------	------------	-------------	----------	-----------------	-------------	-----------------

Country Of Origin: China			Fabric Content: 55% Polyester 45% Metallic Fiber Fringe: 100% Polyester			HTS Code: 6108-92-0030		
RE26327R	Odessa Robe	GLACR	Glacier	107.00	10.00%	96.30	8	770.40
Size	XS/S	M/L						
Qty	6	2						
Country Of Origin: China			Fabric Content: 55% Polyester 45% Metallic Fiber			HTS Code: 6104-63-2011		
RE26328P	Ollie Pant	ESPRS	Espresso	80.00	10.00%	72.00	8	576.00
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 55% Polyester 45% Metallic Fiber			HTS Code: 6104-63-2011		
RE26328P	Ollie Pant	GLACR	Glacier	80.00	10.00%	72.00	8	576.00
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 47% Viscose 31% Polyester 22% Tencel			HTS Code: 6114-30-1020		
RE26571B	Rhea Short	SPMNT	Spearmint	84.00	10.00%	75.60	8	604.80
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 47% Viscose 31% Polyester 22% Tencel			HTS Code: 6114-30-1020		
RE26571B	Rhea Short	PEBLE	Pebble	84.00	10.00%	75.60	8	604.80
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 47% Viscose 31% Polyester 22% Tencel			HTS Code: 6114-20-0010		
RE26571T	Renatta Top	SPMNT	Spearmint	84.00	10.00%	75.60	8	604.80
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 47% Viscose 31% Polyester 22% Tencel			HTS Code: 6114-20-0010		
RE26571T	Renatta Top	PEBLE	Pebble	84.00	10.00%	75.60	8	604.80
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 47% Viscose 31% Polyester 22% Tencel Belt: 100% Cotton			HTS Code: 6104-44-2010		
RE26573DR	Nova Dress	PEBLE	Pebble	193.00	10.00%	173.70	8	1,389.60
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 47% Viscose 31% Polyester 22% Tencel Belt: 100% Cotton			HTS Code: 6104-44-2010		
RE26573DR	Nova Dress	SPMNT	Spearmint	193.00	10.00%	173.70	8	1,389.60
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 47% Viscose 31% Polyester 22% Tencel Belt: 100% Cotton			HTS Code: 6104-44-2010		
RE26573DR	Nova Dress	TWLGT	Twilight	193.00	10.00%	173.70	8	1,389.60
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester			HTS Code: 6112-41-0010		
RE26596F	Uchi Full-Piece	ESPRS	Espresso	80.00	10.00%	72.00	8	576.00
Size	XS	S	M	L	XL			
Qty	2	4	2					
Country Of Origin: China			Fabric Content: 55% Polyester 45% Metallic Fiber Tassel: 100% Polyester			HTS Code: 6104-44-2010		



*Liane Valencia Suarez*

Customer Copy

MI-C00-70923-69839b6e3c883/February 04, 2026

Style	Style Desc	Color	Color Desc	Price (USD)	Discount	Net Price (USD)	Total Units	Total Amt (USD)
RE26597DR	Roma Dress	TRUFL	Truffle	180.00	10.00%	162.00	8	1,296.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber				<b>HTS Code:</b> 6104-62-2030		
RE26598B	Gem Short	TRUFL	Truffle	90.00	10.00%	81.00	8	648.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber				<b>HTS Code:</b> 6114-30-1020		
RE26598T	Gretta Top	TRUFL	Truffle	170.00	10.00%	153.00	8	1,224.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex				<b>HTS Code:</b> 6112-49-0010		
RE26601B	Lola Bottom	TRUFL	Truffle	68.00	10.00%	61.20	8	489.60
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex				<b>HTS Code:</b> 6112-49-0010		
RE26601T	Lucinda Top	TRUFL	Truffle	89.00	10.00%	80.10	8	640.80
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic Beads: 100% Natural Stone				<b>HTS Code:</b> 6114-20-0010		
RE26603R	Fara Robe	ALOE	Aloe	159.00	10.00%	143.10	8	1,144.80
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic				<b>HTS Code:</b> 6104-69-2030		
RE26604B	Fiora Pant	ALOE	Aloe	135.00	10.00%	121.50	8	972.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic Lining: 88% Nylon 12% Spandex				<b>HTS Code:</b> 6112-49-0010		
RE26606B	Paola Bottom	ALOE	Aloe	73.00	10.00%	65.70	8	525.60
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone				<b>HTS Code:</b> 6112-49-0010		
RE26606T	Portia Top	ALOE	Aloe	80.00	10.00%	72.00	8	576.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 65% Nylon 30% Metallic 5% Spandex Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone				<b>HTS Code:</b> 6112-41-0010		
RE26607B	Alina Bottom	PEBLE	Pebble	45.00	10.00%	40.50	8	324.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 65% Nylon 30% Metallic 5% Spandex Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone				<b>HTS Code:</b> 6112-41-0010		



*Liane Ventana Suarez*

Customer Copy

Style	Style Desc	Color	Color Desc	Price (USD)	Discount	Net Price (USD)	Total Units	Total Amt (USD)
-------	------------	-------	------------	-------------	----------	-----------------	-------------	-----------------

RE26607B	Alina Bottom	SPMNT	Spearmint	45.00	10.00%	40.50	8	324.00
----------	--------------	-------	-----------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads:  
 100% Natural Stone

RE26607T	Anto Top	PEBLE	Pebble	61.00	10.00%	54.90	8	439.20
----------	----------	-------	--------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads:  
 100% Natural Stone

RE26607T	Anto Top	SPMNT	Spearmint	61.00	10.00%	54.90	8	439.20
----------	----------	-------	-----------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads:  
 100% Natural Stone

RE26608F	Amii Full-Piece	SPMNT	Spearmint	84.00	10.00%	75.60	8	604.80
----------	-----------------	-------	-----------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads:  
 100% Natural Stone

RE26608F	Amii Full-Piece	PEBLE	Pebble	84.00	10.00%	75.60	8	604.80
----------	-----------------	-------	--------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 55% Polyester 45% Metallic Fiber Tassel:      HTS Code: 6104-44-2010  
 100% Polyester

RE26610DR	Halle Dress	TRUFL	Truffle	134.00	10.00%	120.60	8	964.80
-----------	-------------	-------	---------	--------	--------	--------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 55% Polyester 45% Metallic Fiber      HTS Code: 6104-53-2010

RE26615SK	Bria Skirt	TRUFL	Truffle	120.00	10.00%	108.00	8	864.00
-----------	------------	-------	---------	--------	--------	--------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Merchandise(USD): 264 23,176.80

Discretionary Discount(~)(USD) : Advertising Discount

Gst/Hst(USD): 0.00	State(USD): 0.00	Other(USD): 0.00	Tax(USD): 0.00
--------------------	------------------	------------------	----------------

Sub Total(USD): 23,176.80



*Liane Victoria Suarez*

Customer Copy

This is a final invoice from Devon Windsor, LLC. Clients with Net payment terms must remit payment within the specified period (i.e. Net 30 clients must pay within 30 days). Chargebacks, credits, and other deductions may not be applied to payments without prior written authorization from Devon Windsor. Open invoices that are past due by more than 30 days will incur a 2.5% interest fee for every month they remain unpaid. After 90 days of delinquency we will pursue legal action to recoup unpaid invoices. All legal costs associated with collecting unpaid invoices will be the responsibility of the client.

Please see below for payment details.

Wire/ACH Banking Information

Bank Name: Centennial Bank  
 Account Name: Devon Windsor LLC  
 Account Number: 502610883  
 Routing Number: 082902757  
 Account Address: 4724 SW 74th Avenue, Miami Florida 33155  
 Swift Code: CNTEUS44

Check Information

Mailing Name and Address:  
 Devon Windsor LLC  
 4724 SW 74th Avenue  
 Miami, Florida 33155

**Due Date:** 01/16/2026

**Total Charges(USD):** 23,176.80

**Payments(USD):**

**Credits/Adjustments(USD):** 0.00

**Pay this Amount(USD):** 23,176.80

Pick Ticket	Ship Date	No. of Cartons	Weight	Start	Complete	Invoice
17	01/15/2026	1.000	0.00	01/01/2026	01/30/2026	40034688



*Signatures*

Customer Copy

DEVON WINDSOR  
 4724 SW 74th Avenue  
 Miami, FL 33155  
 United States of America  
 Tel: 314.482.2444  
 www.devonwindsor.com

# INVOICE

Invoice: 40034688

Date: 01/15/2026

<b>Bill To:</b> VAKKO HAZ.GIY SAN TIC AS ALTUNIZADE MAH KUSBAKISI CAD NO 35 USKUDAR ISTANBUL 34662 Turkey	<b>Account:</b> VAKK1 <b>Order:</b> 130169 <b>Ship Via:</b> OTHER <b>Terms:</b> WIRE TRANSFER <b>Dept:</b> <b>Lead Tracking No#:</b> <b>Order Source:</b> <b>WareHouseCode \ Name:</b>	<b>PO No.:</b> R2601 <b>Vendor:</b> <b>Division:</b> DW <b>Division Name:</b> DEVON WINDSOR <b>Phone:</b> <b>Sales Rep:</b> ASH <b>Approval:</b> <b>Bill Of Lading:</b> <b>3rd Party Order No#:</b>
---	---	---

**Ship To:**  
 VAKKO  
 ALTUNIZADE MAH KUSBAKISI CAD  
 NO 35  
 USKUDAR  
 ISTANBUL 34662  
 Turkey

Style	Style Desc	Color	Color Desc	Price (USD)	Discount	Net Price (USD)	Total Units	Total Amt (USD)
-------	------------	-------	------------	-------------	----------	-----------------	-------------	-----------------

**Country Of Origin:** China      **Fabric Content:** 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester      **HTS Code:** 6112-41-0010

RE26324B	Whit Bottom	ESPRS	Espresso	43.00	10.00%	38.70	8	309.60
----------	-------------	-------	----------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL							
<b>Qty</b>	2	4	2									

**Country Of Origin:** China      **Fabric Content:** 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester      **HTS Code:** 6112-41-0010

RE26324B	Whit Bottom	GLACR	Glacier	43.00	10.00%	38.70	8	309.60
----------	-------------	-------	---------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL							
<b>Qty</b>	2	4	2									

**Country Of Origin:** China      **Fabric Content:** 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester      **HTS Code:** 6112-41-0010

RE26324T	Winona Top	ESPRS	Espresso	43.00	10.00%	38.70	8	309.60
----------	------------	-------	----------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL							
<b>Qty</b>	2	4	2									

**Country Of Origin:** China      **Fabric Content:** 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester      **HTS Code:** 6112-41-0010

RE26324T	Winona Top	GLACR	Glacier	43.00	10.00%	38.70	8	309.60
----------	------------	-------	---------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL							
<b>Qty</b>	2	4	2									

**Country Of Origin:** China      **Fabric Content:** 55% Polyester 45% Metallic Fiber Fringe: 100% Polyester      **HTS Code:** 6108-92-0030

RE26327R	Odessa Robe	ESPRS	Espresso	107.00	10.00%	96.30	8	770.40
----------	-------------	-------	----------	--------	--------	-------	---	--------

<b>Size</b>	XS/S	M/L										
<b>Qty</b>	6	2										



*Liane Ventura Suarez*

Salesrep Copy

MI-C00-70923-69839b6e3c883/February 04, 2026

Style	Style Desc	Color	Color Desc	Price (USD)	Discount	Net Price (USD)	Total Units	Total Amt (USD)
-------	------------	-------	------------	-------------	----------	-----------------	-------------	-----------------

**Country Of Origin:** China **Fabric Content:** 55% Polyester 45% Metallic Fiber Fringe: 100% Polyester **HTS Code:** 6108-92-0030

RE26327R	Odessa Robe	GLACR	Glacier	107.00	10.00%	96.30	8	770.40
----------	-------------	-------	---------	--------	--------	-------	---	--------

<b>Size</b>	XS/S	M/L						
<b>Qty</b>	6	2						

**Country Of Origin:** China **Fabric Content:** 55% Polyester 45% Metallic Fiber **HTS Code:** 6104-63-2011

RE26328P	Ollie Pant	ESPRS	Espresso	80.00	10.00%	72.00	8	576.00
----------	------------	-------	----------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 55% Polyester 45% Metallic Fiber **HTS Code:** 6104-63-2011

RE26328P	Ollie Pant	GLACR	Glacier	80.00	10.00%	72.00	8	576.00
----------	------------	-------	---------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 47% Viscose 31% Polyester 22% Tencel **HTS Code:** 6114-30-1020

RE26571B	Rhea Short	SPMNT	Spearmint	84.00	10.00%	75.60	8	604.80
----------	------------	-------	-----------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 47% Viscose 31% Polyester 22% Tencel **HTS Code:** 6114-30-1020

RE26571B	Rhea Short	PEBLE	Pebble	84.00	10.00%	75.60	8	604.80
----------	------------	-------	--------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 47% Viscose 31% Polyester 22% Tencel **HTS Code:** 6114-20-0010

RE26571T	Renatta Top	SPMNT	Spearmint	84.00	10.00%	75.60	8	604.80
----------	-------------	-------	-----------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 47% Viscose 31% Polyester 22% Tencel **HTS Code:** 6114-20-0010

RE26571T	Renatta Top	PEBLE	Pebble	84.00	10.00%	75.60	8	604.80
----------	-------------	-------	--------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 47% Viscose 31% Polyester 22% Tencel Belt: 100% Cotton **HTS Code:** 6104-44-2010

RE26573DR	Nova Dress	PEBLE	Pebble	193.00	10.00%	173.70	8	1,389.60
-----------	------------	-------	--------	--------	--------	--------	---	----------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 47% Viscose 31% Polyester 22% Tencel Belt: 100% Cotton **HTS Code:** 6104-44-2010

RE26573DR	Nova Dress	SPMNT	Spearmint	193.00	10.00%	173.70	8	1,389.60
-----------	------------	-------	-----------	--------	--------	--------	---	----------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 47% Viscose 31% Polyester 22% Tencel Belt: 100% Cotton **HTS Code:** 6104-44-2010

RE26573DR	Nova Dress	TWLGT	Twilight	193.00	10.00%	173.70	8	1,389.60
-----------	------------	-------	----------	--------	--------	--------	---	----------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester **HTS Code:** 6112-41-0010

RE26596F	Uchi Full-Piece	ESPRS	Espresso	80.00	10.00%	72.00	8	576.00
----------	-----------------	-------	----------	-------	--------	-------	---	--------

<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					

**Country Of Origin:** China **Fabric Content:** 55% Polyester 45% Metallic Fiber Tassel: 100% Polyester **HTS Code:** 6104-44-2010



*Liane Valencia Suarez*

Salesrep Copy

MI-C00-70923-69839b6e3c883/February 04, 2026

Style	Style Desc	Color	Color Desc	Price (USD)	Discount	Net Price (USD)	Total Units	Total Amt (USD)
RE26597DR	Roma Dress	TRUFL	Truffle	180.00	10.00%	162.00	8	1,296.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber				<b>HTS Code:</b> 6104-62-2030		
RE26598B	Gem Short	TRUFL	Truffle	90.00	10.00%	81.00	8	648.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber				<b>HTS Code:</b> 6114-30-1020		
RE26598T	Gretta Top	TRUFL	Truffle	170.00	10.00%	153.00	8	1,224.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex				<b>HTS Code:</b> 6112-49-0010		
RE26601B	Lola Bottom	TRUFL	Truffle	68.00	10.00%	61.20	8	489.60
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex				<b>HTS Code:</b> 6112-49-0010		
RE26601T	Lucinda Top	TRUFL	Truffle	89.00	10.00%	80.10	8	640.80
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic Beads: 100% Natural Stone				<b>HTS Code:</b> 6114-20-0010		
RE26603R	Fara Robe	ALOE	Aloe	159.00	10.00%	143.10	8	1,144.80
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic				<b>HTS Code:</b> 6104-69-2030		
RE26604B	Fiora Pant	ALOE	Aloe	135.00	10.00%	121.50	8	972.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic Lining: 88% Nylon 12% Spandex				<b>HTS Code:</b> 6112-49-0010		
RE26606B	Paola Bottom	ALOE	Aloe	73.00	10.00%	65.70	8	525.60
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone				<b>HTS Code:</b> 6112-49-0010		
RE26606T	Portia Top	ALOE	Aloe	80.00	10.00%	72.00	8	576.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 65% Nylon 30% Metallic 5% Spandex Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone				<b>HTS Code:</b> 6112-41-0010		
RE26607B	Alina Bottom	PEBLE	Pebble	45.00	10.00%	40.50	8	324.00
<b>Size</b>	XS	S	M	L	XL			
<b>Qty</b>	2	4	2					
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 65% Nylon 30% Metallic 5% Spandex Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone				<b>HTS Code:</b> 6112-41-0010		



*Liane Victoria Suarez*

Salesrep Copy

Style	Style Desc	Color	Color Desc	Price (USD)	Discount	Net Price (USD)	Total Units	Total Amt (USD)
-------	------------	-------	------------	-------------	----------	-----------------	-------------	-----------------

RE26607B	Alina Bottom	SPMNT	Spearmint	45.00	10.00%	40.50	8	324.00
----------	--------------	-------	-----------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone

RE26607T	Anto Top	PEBLE	Pebble	61.00	10.00%	54.90	8	439.20
----------	----------	-------	--------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone

RE26607T	Anto Top	SPMNT	Spearmint	61.00	10.00%	54.90	8	439.20
----------	----------	-------	-----------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone

RE26608F	Amii Full-Piece	SPMNT	Spearmint	84.00	10.00%	75.60	8	604.80
----------	-----------------	-------	-----------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone

RE26608F	Amii Full-Piece	PEBLE	Pebble	84.00	10.00%	75.60	8	604.80
----------	-----------------	-------	--------	-------	--------	-------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 55% Polyester 45% Metallic Fiber Tassel:      HTS Code: 6104-44-2010  
 100% Polyester

RE26610DR	Halle Dress	TRUFL	Truffle	134.00	10.00%	120.60	8	964.80
-----------	-------------	-------	---------	--------	--------	--------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Country Of Origin: China      Fabric Content: 55% Polyester 45% Metallic Fiber      HTS Code: 6104-53-2010

RE26615SK	Bria Skirt	TRUFL	Truffle	120.00	10.00%	108.00	8	864.00
-----------	------------	-------	---------	--------	--------	--------	---	--------

Size	XS	S	M	L	XL						
Qty	2	4	2								

Merchandise(USD): 264 23,176.80

Discretionary Discount(~)(USD) : Advertising Discount

Gst/Hst(USD): 0.00	State(USD): 0.00	Other(USD): 0.00	Tax(USD): 0.00
--------------------	------------------	------------------	----------------

Sub Total(USD): 23,176.80



*Liane Victoria Suarez*

Salesrep Copy

This is a final invoice from Devon Windsor, LLC. Clients with Net payment terms must remit payment within the specified period (i.e. Net 30 clients must pay within 30 days). Chargebacks, credits, and other deductions may not be applied to payments without prior written authorization from Devon Windsor. Open invoices that are past due by more than 30 days will incur a 2.5% interest fee for every month they remain unpaid. After 90 days of delinquency we will pursue legal action to recoup unpaid invoices. All legal costs associated with collecting unpaid invoices will be the responsibility of the client.

Please see below for payment details.

Wire/ACH Banking Information

Bank Name: Centennial Bank  
 Account Name: Devon Windsor LLC  
 Account Number: 502610883  
 Routing Number: 082902757  
 Account Address: 4724 SW 74th Avenue, Miami Florida 33155  
 Swift Code: CNTEUS44

Check Information

Mailing Name and Address:  
 Devon Windsor LLC  
 4724 SW 74th Avenue  
 Miami, Florida 33155

**Due Date:** 01/16/2026

**Total Charges(USD):** 23,176.80

**Payments(USD):**

**Credits/Adjustments(USD):** 0.00

**Pay this Amount(USD):** 23,176.80

Pick Ticket	Ship Date	No. of Cartons	Weight	Start	Complete	Invoice
17	01/15/2026	1.000	0.00	01/01/2026	01/30/2026	40034688



*Liane Ventura Guerra*

Salesrep Copy

DEVON WINDSOR  
 4724 SW 74th Avenue  
 Miami, FL 33155  
 United States of America  
 Tel: 314.482.2444  
 www.devonwindsor.com

# INVOICE

Invoice: 40034688

Date: 01/15/2026

<b>Ship To:</b> VAKKO ALTUNIZADE MAH KUSBAKISI CAD NO 35 USKUDAR ISTANBUL 34662 Turkey	<b>Account:</b> VAKK1 <b>Order:</b> 130169 <b>Ship Via:</b> OTHER <b>Terms:</b> WIRE TRANSFER <b>Dept:</b> <b>Lead Tracking No#:</b> <b>Order Source:</b> <b>WareHouseCode \ Name:</b>	<b>PO No.:</b> R2601 <b>Vendor:</b> <b>Division:</b> DW <b>Division Name:</b> DEVON WINDSOR <b>Phone:</b> <b>Sales Rep:</b> ASH <b>Approval:</b> <b>Bill Of Lading:</b> <b>3rd Party Order No#:</b>
--	---	---

## Packing Slip

Style	Style Desc	Color	Color Desc	Net Price (USD)	Total Units	Total Amt (USD)
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester		<b>HTS Code:</b> 6112-41-0010		
RE26324B	Whit Bottom	ESPRS	Espresso	0.00	8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester		<b>HTS Code:</b> 6112-41-0010		
RE26324B	Whit Bottom	GLACR	Glacier		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester		<b>HTS Code:</b> 6112-41-0010		
RE26324T	Winona Top	ESPRS	Espresso		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester		<b>HTS Code:</b> 6112-41-0010		
RE26324T	Winona Top	GLACR	Glacier		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Fringe: 100% Polyester		<b>HTS Code:</b> 6108-92-0030		
RE26327R	Odessa Robe	ESPRS	Espresso		8	
<b>Size</b>	XS/S	M/L				
<b>Qty</b>	6	2				
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Fringe: 100% Polyester		<b>HTS Code:</b> 6108-92-0030		
RE26327R	Odessa Robe	GLACR	Glacier		8	
<b>Size</b>	XS/S	M/L				
<b>Qty</b>	6	2				
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber		<b>HTS Code:</b> 6104-63-2011		



*Signatures*

Packing Slip

Style	Style Desc	Color	Color Desc	Net Price (USD)	Total Units	Total Amt (USD)
-------	------------	-------	------------	-----------------	-------------	-----------------

RE26328P	Ollie Pant	ESPRS	Espresso		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber			<b>HTS Code:</b> 6104-63-2011	

RE26328P	Ollie Pant	GLACR	Glacier		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 47% Viscose 31% Polyester 22% Tencel			<b>HTS Code:</b> 6114-30-1020	

RE26571B	Rhea Short	SPMNT	Spearmint		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 47% Viscose 31% Polyester 22% Tencel			<b>HTS Code:</b> 6114-30-1020	

RE26571B	Rhea Short	PEBLE	Pebble		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 47% Viscose 31% Polyester 22% Tencel			<b>HTS Code:</b> 6114-20-0010	

RE26571T	Renatta Top	SPMNT	Spearmint		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b>		<b>Fabric Content:</b> 47% Viscose 31% Polyester 22% Tencel			<b>HTS Code:</b> 6114-20-0010	

RE26571T	Renatta Top	PEBLE	Pebble		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 47% Viscose 31% Polyester 22% Tencel Belt: 100% Cotton			<b>HTS Code:</b> 6104-44-2010	

RE26573DR	Nova Dress	PEBLE	Pebble		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 47% Viscose 31% Polyester 22% Tencel Belt: 100% Cotton			<b>HTS Code:</b> 6104-44-2010	

RE26573DR	Nova Dress	SPMNT	Spearmint		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 47% Viscose 31% Polyester 22% Tencel Belt: 100% Cotton			<b>HTS Code:</b> 6104-44-2010	

RE26573DR	Nova Dress	TWLGTT	Twilight		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex Tassel: 100% Polyester			<b>HTS Code:</b> 6112-41-0010	

RE26596F	Uchi Full-Piece	ESPRS	Espresso		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber Tassel: 100% Polyester			<b>HTS Code:</b> 6104-44-2010	

RE26597DR	Roma Dress	TRUFL	Truffle		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			
<b>Country Of Origin:</b> China		<b>Fabric Content:</b> 55% Polyester 45% Metallic Fiber			<b>HTS Code:</b> 6104-62-2030	

RE26598B	Gem Short	TRUFL	Truffle		8	
<b>Size</b>	XS	S	M	L	XL	
<b>Qty</b>	2	4	2			



*Liane Valencia Guerra*

Packing Slip

MI-C00-70923-69839b6e3c883/February 04, 2026

Style	Style Desc	Color	Color Desc	Net Price (USD)	Total Units	Total Amt (USD)
-------	------------	-------	------------	-----------------	-------------	-----------------

Country Of Origin: China		Fabric Content: 55% Polyester 45% Metallic Fiber		HTS Code: 6114-30-1020		
RE26598T	Gretta Top	TRUFL	Truffle		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			

Country Of Origin: China		Fabric Content: 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex		HTS Code: 6112-49-0010		
RE26601B	Lola Bottom	TRUFL	Truffle		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			

Country Of Origin: China		Fabric Content: 55% Polyester 45% Metallic Fiber Lining: 88% Nylon 12% Spandex		HTS Code: 6112-49-0010		
RE26601T	Lucinda Top	TRUFL	Truffle		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			

Country Of Origin: China		Fabric Content: 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic Beads: 100% Natural Stone		HTS Code: 6114-20-0010		
RE26603R	Fara Robe	ALOE	Aloe		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			

Country Of Origin: China		Fabric Content: 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic		HTS Code: 6104-69-2030		
RE26604B	Fiora Pant	ALOE	Aloe		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			

Country Of Origin: China		Fabric Content: 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic Lining: 88% Nylon 12% Spandex		HTS Code: 6112-49-0010		
RE26606B	Paola Bottom	ALOE	Aloe		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			

Country Of Origin: China		Fabric Content: 48% Viscose 26% Polyester 19% Tencel 4% Nylon 3% Metallic Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone		HTS Code: 6112-49-0010		
RE26606T	Portia Top	ALOE	Aloe		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			

Country Of Origin: China		Fabric Content: 65% Nylon 30% Metallic 5% Spandex Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone		HTS Code: 6112-41-0010		
RE26607B	Alina Bottom	PEBLE	Pebble		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			

Country Of Origin: China		Fabric Content: 65% Nylon 30% Metallic 5% Spandex Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone		HTS Code: 6112-41-0010		
RE26607B	Alina Bottom	SPMNT	Spearmint		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			

Country Of Origin: China		Fabric Content: 65% Nylon 30% Metallic 5% Spandex Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone		HTS Code: 6112-41-0010		
RE26607T	Anto Top	PEBLE	Pebble		8	
Size	XS	S	M	L	XL	
Qty	2	4	2			



*Signatures*

Packing Slip

MI-C00-70923-69839b6e3c883/February 04, 2026

Style	Style Desc	Color	Color Desc	Net Price (USD)	Total Units	Total Amt (USD)
-------	------------	-------	------------	-----------------	-------------	-----------------

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone

RE26607T	Anto Top	SPMNT	Spearmint									8
<b>Size</b>	XS	S	M	L	XL							
<b>Qty</b>	2	4	2									

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone

RE26608F	Amii Full-Piece	SPMNT	Spearmint									8
<b>Size</b>	XS	S	M	L	XL							
<b>Qty</b>	2	4	2									

Country Of Origin: China      Fabric Content: 65% Nylon 30% Metallic 5% Spandex      HTS Code: 6112-41-0010  
 Lining: 88% Nylon 12% Spandex Beads: 100% Natural Stone

RE26608F	Amii Full-Piece	PEBLE	Pebble									8
<b>Size</b>	XS	S	M	L	XL							
<b>Qty</b>	2	4	2									

Country Of Origin: China      Fabric Content: 55% Polyester 45% Metallic Fiber Tassel: 100% Polyester      HTS Code: 6104-44-2010

RE26610DR	Halle Dress	TRUFL	Truffle									8
<b>Size</b>	XS	S	M	L	XL							
<b>Qty</b>	2	4	2									

Country Of Origin: China      Fabric Content: 55% Polyester 45% Metallic Fiber      HTS Code: 6104-53-2010

RE26615SK	Bria Skirt	TRUFL	Truffle									8
<b>Size</b>	XS	S	M	L	XL							
<b>Qty</b>	2	4	2									

Item Total: 264

This is a final invoice from Devon Windsor, LLC. Clients with Net payment terms must remit payment within the specified period (i.e. Net 30 clients must pay within 30 days). Chargebacks, credits, and other deductions may not be applied to payments without prior written authorization from Devon Windsor. Open invoices that are past due by more than 30 days will incur a 2.5% interest fee for every month they remain unpaid. After 90 days of delinquency we will pursue legal action to recoup unpaid invoices. All legal costs associated with collecting unpaid invoices will be the responsibility of the client.

Please see below for payment details.

Wire/ACH Banking Information

Bank Name: Centennial Bank  
 Account Name: Devon Windsor LLC  
 Account Number: 502610883  
 Routing Number: 082902757  
 Account Address: 4724 SW 74th Avenue, Miami Florida 33155  
 Swift Code: CNTEUS44

Check Information

Mailing Name and Address:  
 Devon Windsor LLC  
 4724 SW 74th Avenue  
 Miami, Florida 33155

Pick Ticket	Ship Date	No. of Cartons	Weight	Start	Complete	Invoice
17	01/15/2026	1.000	0.00	01/01/2026	01/30/2026	40034688



*Devon Windsor*

Packing Slip

MI-C00-70923-69839b6e3c883/February 04, 2026